Multiplication de Deux Binomes par un Trinome (D)

Simplifiez chaque expression.

1. (—9k* — 8k)(2k* — 2k)(6Kk* — k* — 3k?)

2. (8h —5)(h 4 1)(6h* — Th + 6)

D

3. (—8K* + 2k)(8k* — 4k)(—8k* + 9k + 3)

L (—4w® — 20t (9w + Tw?) (Tw® — 6w?* — 5u?)

- (=4c 4+ 3¢ (=5t + 7¢*) (4 + e + 9)

Ot

6. (5m* — 3m?®)(—2m* — 3m®)(—4m> + m* + 9m)

- J

(—4y® — 5y”) (99" — 2¢y*) (—5y* + 5y — 2)

8. (=Ta+ 3)(—8a® + 5a*)(6a" — 4a® + 5a?)

e

) (—2K* — 2k%)(—6k + 1)(4k> + 8k — 2k)

10. (82 + 2t) (2 + 3t3)(=5t° — 3t* + 8t%)
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